= 9E

it&

D= Hx
(Z£—h8)
T

S
JOEDRE B

@& 5 it







M ZER(L—H)

B# Y EEIIZ
SHEER

M EAARTRERRE 5

L4

¥ 31




ISBN 7-5347-2613-1

787534772613







—1. A 2.D 3 A 4 5. A 6. D
7. C
—.1. & -b,0, -24°; 2. 1, 3. 283 ER +/2

®+3; 4 5, 5 2a—ab-b
d O¥e=10F, AR -2x+1=0.-. x=

@Y a <0 B, FRITLEA.
®¥Y a =0 Hf,x, =, =0.

@Y a>0 H a1 it,x, =4t la,x2=a_f.
a- a-

2. (1)x, =5+ 4/10,x, =5 - /10;
(2)x, = ‘l;ﬁ,xz _o1-46

3
3. (1)x, ==, =%;

4. (x, =0,x, = -1; 2)=AEREL=F/AF.
P .5x° ~6x+1 =05 54" -6x-1=0.

F %, =3a,x, =a.



Aml-4m+11=(m-2)" +7#0,FFUALE m BAIE, T E
BWRE—TLKFE.
. Bx, RIB L -3x+c=0 —PHR,

B

>k M

W -x, IHBL +32-c=0 FIR.

i 22 -3x, +¢ =0,

(-%)"+3(-%) -c=0B } -3z, -c=0.
D-®,182¢=0,c=0.

Bl x® +35=0. 2,8 x, =0,x,= -3.

12.2 m@ﬁﬁ%%ﬁfﬁ:&ﬁﬁ

® e

1. C 2.°'C 3 (HD (2)A (3)C (4)D

(5)D (6)D
4
Joox, = -3 ,x, =25 2. x,=0,x2=—7—;
3. x, = -1,%,=4; 4. 1.
5

Ao %, =2,2,= =64 2. %, =3,x, = -7.
NN xl=%’x2= _%3 2. %, =1,x,= '_2—;

1
3. xl=1,x2=7.
X, =m+n,%, =m-n.
HFB A -6x+8=018(x-2)(x-4) =0, , B/ x, =2,

%, =4 Y= AKEN 2N, HARKRN6GHE=AK =
HEER 48, HAKRK 12,4 =ABRAN2,BKHN 4
iR N 10, 4KH N 4, BERKA 20, =AERF
1.

.2,



£ B b B, b AR AT EKIOB b =mn, B

m+n=1. b REHA, -2, -6, -12, -20,--- (EHE
SEEBBRABMAHRED) .
A L10. ‘
hMREE,1H20=25:-5,(t-1)(t-4) =0,
t,=1,0 =4 W1 BRI BDFEEERE K20 kKEH
5.

1.3 — =R F B WARE HH K

—.1. B 2. B 3. B 4. C

I
.
|
g

2. =,m<—; 3. = -——

2 8’
4. HELFPH; 5. -5
Jdo ARAAHENLHER; 2. LLHOR

m _2, __2. _2

. (1)k> 3 (2)k = 3 3k« 3
FH . (1) A=4p2+4q<0,EDq<—p2,.'. pt+g< —p2+p
IZvv 1 1 , 1
=-(p-7q) tosT OEEERMBpeqg<y,

MHER " +2px —g=0(p,q BRELH) BAE LR

(3) () PHBABRER W:%p=1,g= -1 5 ,p +g <},

BFEFR L +2px -q=0FLHEIRx= - 1.
ANEFBEBEER: (b+c)x’ -2 /max +m(c-b) =0.

FRAEWNMHERNTHR,
A=0,B04ma* -4m(b+c)(c-b) =0.




4m(a® - +b*) =0.
m>0,
. a> -t +b*=0,a> +b* ="
P /) J 58 B A58 E S AABC REA = AT,
. A=m*-6m+29=(m-3)"+20>0,
m FAEATSCE, T REA B A HE LR
A=0
(M FBRAEWER,.. {xl+x2=m—1>0]=>m>7.
% % =m~-7>0
(D) HBRRRE,

A>0
=m<7.
{xl cx,=m -7 <0}

12.4 — TR EBHREZREHXR

—.1. C 2. B 3. C 4. C
— 1 MESENEEM min=2-p,
Blm+n+p=2,Hmn=1,
(m* +mp+1)(n® +np+1)
=(m* +mp +mn) (n’ +np + mn)
=m(m+p+n)n(n+p+m)

=mn(m+n+p)’

=1x2" =4;
2. %,—1; 3. ¥ -2/5x+4=0;

4. 7+52,7-542; 5 -2,-5.
4.



\m{[ -(2m-3)]1*-4m’ = - 12m +9=0,

m’? #0.
B ms%ﬂ m#0. @
BHEBERLEARN », ,x,, 0
2m -3 1
X X, = %, %, =
m

1 1 X, +x,
s=—t+—=—""
% X EX,

=2m - 3.
B DM 2m -3 < ——;—,ﬂ2m—3;é -3,
]

B s< -%E s# -3,

B.(1)k<5H k+#1;

1
(2)- =4(x, +x,),
1 ° %2
-6 1) D E_1=
k l—k—l' S (k=-1)"=16. .. k-1= %4,
k, =5k, = -3.

M k=50, @ BERMEELR AFAEE, .
k= -3FEHE.

2 2 2
LIS +x; (x, +x,)

= -2=-6.
X, % X%, X%,
2k +3k = —i, @
a
R ORTEAFHARN 28,3k, 0
2+ 3k =—. @
a



MO k= - HHRAQH =2
a 250" a
6b” =25ac.

Ao FHBGB+b)x +2ax+ (543 -b) =0 HFEAHE
HISEBOR,
A=4a> -4(5/3+b)(543-b) =0,
a?+b=(53)"=¢,
AABC HER =M, L C=90°.
A 25" - (10sind ) x +5sind =0 WK «, ,x,,

x, +x, =5sind,

RS )
%, X, =%sinA.

x> +22 = (x, +%,)° -2x,5, =25sin’A —5sind =6,
25sin’A —5sind ~6 =0. Bl (5sinA +2)(5sind ~3) =0.

ind = - 2 (FAEE, &%) sind =3

a

E

¢ s
1 1 :
S asse =—ab=—x3[x4[=1s

£, (1)H3E,5&]‘I4§AB+AC 2k +3, AB AC k’+3k+2.
B +AC*=BC*, ‘LT
(AB+AC) -24B-AC=25, '~ O
B (2k +3)2 —2(k* +3k+2) =25.
Bz Bk -5HE=2 A ATEHDBHAG L
WE=28, FBNs* =Tc+12=0,18 x, =3,5, =4.

.6

sinA =

=%, s a=3.3,b=4./3.

S



Wh=-SH, BRI +7x+12=0,78 AB+AC = -7 <0,
ArEBE, &%

v ¥k=28,AABC 2L\ BC ARLAMEMZME.
(2) 258 = f %4 DAB = AC,QAB = BC,®AC = BC =F¥
B

A=(2k+3)* -4(K +3k+2) =1>0

AB#AC, DR AR ; OO MALH,5 REMH B
B,

52 -5(2k+3) +E +3k+2=0. 2 B k=38 k=4.
LEk=38,FBH2 -92+20=018x, =4,x, =5. WETF
K 14
WE=4pt, FBHI 2 -112+30=0 x, =5,x, =6, 1At
F& K 16.

12.5 ZARZHARANBERXR2B(ALXRE)

1. C 2. C 3. D 4. A

Jo (2 +2y-1)(x+2y-3); 2. 3,—2,—-—;—.

do = (2x+3)(2x-5); 2. 2(xy+4)(xy-3).
do (2-203-3)(x-23+3);

2. (x-4y- V13 y)(x-4y+ /13 y).

K= £4.3.

(x+3)(x-4).

W1

B

& >k H



12,6 — T _RFBHUBA

—1. C 2B 3 B 4 C
=.1. 100a +10b + c; 2. 71,9,11 &% -7, -9, -11;
3. 64,50; 4. 98(1-x),98(1-x)%,98[1-(1-%)*].
= .24 & 15.
REHERENES 2o,
(40 - x) (20 +2x) =1200,
x* —30x +200 =0.
Rz, 8 =10,x, =20.
R ERRE /P BT, 8 » N 20 JT.
F.100%.
A.EORK?2. 4m,EH 0.9m.
£ (1) KEE,1820(1 +x)° =28.8,
B2, Bx=02,%=-2.2(F%),
M x=0.2=20%.
(2)30 x28.8 =864 (H),
864 x 230 =198720(5t) ~19.87( A IL).
J\2m.
1.10%.
+.9 F.

127 ThY-—F-RFEHARTE
D

—.1. C 2. B 3.
7. D 8. B

4 B 5:C 6. D




1 1 1 mn
s, L 1,1 mn
m m n m+n-

=1 x= ——;; 2 %= -2,x, =1

a
Xy =3a,x2 =7.

F. L4 9 H.
7N (KRR 18 400 x(2x +4(—x)9) +300 x‘%’o +200 x 80 =47200.

B 182’ -39x+350=0. 2, B x, =14,%, =25 28
¥ox =142, =25 HFREFEFBHR(E 25 K >16 X, 54

WE, EE). HWKY 14 K, WH B K <16 K, 4

BEE.  (2)%H1L1 47200 TR EEM KRB =FI5 KA
HA , AEESE. YK N 16 kit ,FEHR 12.5 % <
16 K, 8K R 16 KA S B E. X if & 1E #t 4 800 x 16 +

‘1(&1"6@ +200 x 80 = 46300 < 47200.
1 11
'txl- ﬁx‘f——}’ ﬁﬁ = =7
+2 2 +2 x+£ Y
x X

6
ﬁlﬂy—;:l,yz -y-6=0.. y,=3,y,=-2.
Yy =30f,x +%—=3,x2 -3x+2=0," x,=1,x,=2.

Wy = -2 0f,x +—2—= -2,8" +2x +2 =0, W B L LK
%
.



ZRE v =1,%, =2 FRFEHFEHR.
2. %, =3 -;ﬁ,xz =3 ;ﬁ

100
3

.20 TR
B).
. - 400 4
R BEEATHE Yy 0, 0 4( 55 -5) - 50 =9x W2,

FK(4r CTE ABRIFATLE AB PR

5 =10,5, = -0 GRE, KR RBRFIROR, Bk
AR B S 580, BT L LB« = 10 T
128 —AN_Tm—%hF R4
IR RARK T REY
—.1. B 2. C
W1 xz,—2xy,y2;x,—y;—6; 2. 1;

3 {x,: —1,{x2=2,
y1=21 Y, = -1.
%, =3,1x,=19, x, =3,1x, =4,
L { ‘ { ’ 2. { ‘ { ’
¥, =1,ly, =9; y, =4, |y, =3.
A (DBAL+(2-%)=m, 124 -4x +4 —m =0.

A=(-4)"-4x2x(4-m)=-16+8m >0,
m>2, B0 m >2 o, JRI7 B A A PR R B S

(2)- xl+x2=2,xlx2=—;—(4—m),

<10 -



2y’ -4y +4 -m =0. ..

Xz, —x,1 =B31y,7,1,

2 -4 x—;—(4—m) =3 x(
8
m, ==, m, =8

1
Y12 =7(4 -m).

(%, —x2)2 =3(9'19'z)2-
4-m

2

2
) LBl 3m? —32m +64 =0,

X%,s BAF2.. m =%§Jz 8.

129 H— ANk FRM—-ANTULXEH
AN R TR T RARN T RY

—.1. A 2. B
- {x|=2, {x2=2, {x3=—2, {x4=—2,
I VA P CAE S PR P B Yo= -1
2. +28.
- {xl=6, {x2= -6, {x3=2J5_, {x4= -2.5,
B ==l y2 =13 y3=«/5—; y4=_ﬁ-
5 {xl=2, {x2=7,
}’|=7; _’}’2=2.
M .e=-2.
g 3 &
—.0. A 2. B 3. B 4. C 5. B 6. B
7. B 8. B

<11 -



le
1. — 4

6. 2(x_

)( ) 7.8; 8. 0

y=
2. &%, % BB ax’ —2bx +c =0 KIFHR, N

+ . ¢
x g =Y 20y oy =
1 V1 2

1 a a

20 4c
(=, —;\:2)2 = (=%, +x2)2 -4x, %, =—a_2—;

N x, =x,=4/2,a=c,

2b -4 =280 b* =3d’,b =.3a.

it B fEJR AC LIH BD,
V3

e
cosA=——£U\ﬂ'ﬁLA £ C =30°.

3. ()% k=28, -22+3=0,BRE—-LHEW R x=—
W28t A= -2(k-1)1* -4(k-2)(k+1) =4(3 -k).

B k<3, B3 -k=0,B0 A=0.
WAt A BAE A LHR.
g AR, R R B LR,

©12 .




